opute] x = 02 Hhelsh,
-18=-6a .. a=3
oFlc] x = 2 & fASHA
10=10c .. c=1

ool x = -3 & hYata,
-30=15b, .. b= -2
“a-b+c=3+2+1=6




x 9 ol TAIGlo]l 4] x% + 13x - 18 = a(x + 2)(x — 3) + bx(x +
2) +ex(x=3) ol FFAHD W, FF ab,c A Fa+b+c e
o7

O @ 3 ® 6 @ 9 ® 12

S8 ~
S

x=02 YUslH 18 = —6a°llA a=3

x =32 Y35HHE 30 = 156014 b =2

x=-22 tA5HH —40 = 10coN A ¢ = —4
“a+b+c=34+2+(4)=1




x+1 y-1 =

2 ZTZIE}O}E’E

x=2t—-1, y=3t+1

Ol AL ax+ by + 5= 0] HY5HH
a(2t-=1)+bBt+1)+5=0
(2a+3b)t+ (-a+b+5)=0

o] Alo] RE A% o] thste] JHsfof stE=
2a+3b=0---@
—a+b+5=0---Q@

O, @5 dHsto] &4

a=3,b=-2 .. a+b=3+(-2)=1

B

A C
7= B@AD:BC*ééJ o|l&
3x+3=2y-2

3x—2y+5=02ax+by+5=0
La=3,b=-2




4.

Q1919 A% x, yoll Bsted, (x +y)a® + (x - y)b = 4x + y7} 4

, a® + b ©] g7

15 17
©or @5 0

19
©F

(@® +b)x+ (a®> -b)y =4x+y
a+b=4---0,a2-b=1---Q

@, @NA a2 = g b

N | o

19
. 2 b2 _
. a” + = —4

Sk



xt - 6x% + 85 dEalstH? (&, FEl

/\AQ/\A
=
[\
|
[\
=
|
2
—
=
+
[\
N—

=3
=

HolA =23l S5t

L (=) =0,
 (x=2)(x+2) 2 tHro] HolxmR
YA S AA Q5elsta et




x+1=XE A%sd
(EA)=X-3X+2=(X-1)(X-2) =x(x-1)




x2_2x_y2+2y_§_ [ BN =]

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4




8. a+b+c=0,a2+b>+c%2=1L W, a?b?+ b2 + %a® 9 F2?
1
oF @

(a+b+c)? =a?+b*+c+2(ab + be + ca) ©ll HYsHA

® 0 @ 1 ® 4

DN | =

1
ab+bc+ca=—§

(ab + be + ca)? = a®b? + b*c? + c2a® + 2abc(a + b + ¢)

= =

— = a’b? + b%c? + ?a® + 2abc(a + b + ¢)

1
wabA a2b2 + b2¢2 + 242 = Z




9. MAFabcolUHotda+b+c=2,a°>+b%>+c? =6, abc = -1
A ], a3 + b+ 9] F2?

@11 @ 12 ® 13 @ 14 ® 15

B ~

(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8

= (a+b+c)(a®+b?+c?—ab - bc - ca) + 3abc
—2x(6-(-1))-3=11




X —-x*=3x+3

¥ =3-29 o, — ol #e?
D)8 - 62 @ 8-42 ® 5-6V2
@ 5-4v2 ©® 3-6v2

B

W¥-xt-3x+3 xx-1)-3(x-1)
x—1 - x—1
(x*=3)(x-1)
x—1
=x-3
=(3-V2)?-3
=11-6V2-3=8-6V2




11.

a+btc=1,a*+b*+* =5, +b3+c =2Y W], abc 9] F2?

D-2 @0 ®

3 @

®1

W ot
DO Ot

B

a’ +b*+¢?
=(a+b+c)?-2(ab+bc+ca) B2
5=1-2(ab + bc + ca)

. ab+bc+ca=-2

a® + b3 + ¢ — 3abe
=(a+b+c)(a®+b*+c?—ab—bc—ca) | B2
2-3abc=1-(5+2)

. abc = D
3




